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A cart is constrained to move along a straight line. A varying net force
along the direction of motion is exerted on the cart. The cart’s velocity v

mmw?n_nzcuonma..o_::raiu:._:.n graph above. The five labeled points
divide the graph into four sections,

\.% Which of the following correctly ranks the magnitude of the average
m acceleration of the cart during the four sections of the graph?
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i After
i ing still, as shown in the top figure above.
ion i i t speed toward a gazelle that is m_.mnu_sm still, as sh ] B
prte .”ooonnaau_:w.”wno__mm” __”mmnuu the lion and accelerates directly toward J_.H. rwﬂ:%c _M w_ﬂww«m Nonand
wn,.a-ﬂ_pn_ o Eﬂ.n_.uu mn_ﬂnmnu As the gazelle accelerates _ms.ﬂn __w_wpm“m“ “_Mn qwohu B ST poode
orce X : ke .
i i 1le. The lion and the gazelle e | B e 1l e e
ﬂﬂmﬁaqu”:ﬂqﬂ.__ﬁﬁm_nﬂh“m wﬂ.ﬂamsu shows a reasonable representation of the velocities of the
ic

gazelle as functions of time?
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GO ON TO THE NEXT PAGE.
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rr car is traveling along a straight road with a velocity
Y

An abject moving horizontally with speed v falls off
the edge of a vertical cliff and lands a distance d from
the base of the cliff. I it had landed a distance 2d
from the base of the cliff, how fast would the object

" of 10 m/s. 1t begins to accelerate uniformly at time ¢
— 0 and covers a distance of 300 m in 5 5. What is
the magnitude of the acceleration?

A) 10 m/s? B) 12 m/s? had to have been moving?
20 ms? D) 24 m/s?
) 60 m/s? wv . 2
v
o C) 2v
{ ww Which pair of graphs represents the same v

| -dimensional motion? E) It cannot be determined unless the height of the

cliff is known

) A — AX =V, 0t
ANy 74 d=Vvt

3) Base your answer to the following question on the

- _.c___os.aw diagram, in which a ball of mass m is rolled
rmqﬁo_.:w:q off a table of height 4 and lands a
distance D from the edge of the table.
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What is the initial horizontal velocity of the ball?

A) D B A,
Fiis ) DJ2hig

C) 2Dh'g D) Dhg

E) 55
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speed ol 10 m/s. How lar will t drop
il the ground brst?
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_ Exsmple 112 From a hevght of 100 m, a ball is theown horizanially _
with an snutial specd of 15 /s, How laz does it travel borizontally in 1
the firs 2 seconds? — '
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Example LT3 x—.i.t:iﬁ.:ﬂ!.?ﬂv&i?p_uﬁ&
B seconds. How does its horizontal velocity 1 5 alter launch compare 1o
ts harizontal velocity 4 S alter lunch?




